A & 0l & AHS & Al A

S AT
M a0 01 |4
Ehol: LAl ol CLR-E
CER(BH) - RN - BaS Of o o HIDS
13,725,889 17,081,791 A3,355,902
= 659,871
s 3,691,480
) 30,000
= 329,273
= 594,758
= 8,420,507
19,950 200,000 180,050
19,950 200,000 180,050
19,950 200,000 180,050
19,950 200,000 180,050
19,950 200,000 180,050
19,950,000+ 12| 19,950
1,185,522 6,463,727 Ab,278,205
s 355,000
< 54,221
= 776,301
gdses X2 1,185,522 6,453,727 Ab,268,205
s 355,000
< 54,221
o 776,301
35,852 2,328,900 A2,293,048




2 o ba=4t 1t

Hu: 0fF s
el fPgdatas X3 (&2 )
SA - FB . GI(EN) - MRAY - B2 0fl &k o o HIRE2
201 Ler2d 1,500 1,500 0
01 AtR22H 1,500 1,500
NHEIHHL AT AHEZAN &Y 5,000+3005 1,500
202 O4dl 4,352 4,900 A548
01 =LHAYI 4,352 4,900 A48
NeZHH2E=EE SXTA 75,800« 1E*145 1.7 1,805
NHANH? HEHIIE I8 SXIZAL 75,8002 145 H*1.23] 2,547
401 Al&HIYL RG] 30,000 109,900 279,900
01 Al&HI 30,000 84,000 £.54,000
NAHAENN TEE =4 30,000,000 30,000
Cr=& 12| AXIXI& 500,000 520,000 220,000
s 250,000
= 250,000
401 Al&BIYL RG] 500,000 500,000 0
s 250,000
= 250,000
01 Al&HI 500,000 500,000 0
DO HEQIAI | H X ALY 50,000,000+ 1074 2~ 500,000
Fas 250,000
= 250,000
F=MIHE E5 31,104 30,960 144
= 6,221




2 o ba=4t 1t

M OfE AS O
el fPgdatas X3 (&2 )
SA - FB . GI(EN) - MRAY - B2 0fl &k o o HIRE2
MBHZ2 5 = 24,883
201 Ler2d 31,104 30,960 144
= 6,221
i 24,883
01 AtR22H 31,104 30,960 144
N2 6,000% 12& x432% 31,104
o= 6,221
i 24,883
HZ2 HARFE B2 = 60,000 60,000 0
& 48,000
i 12,000
402 QI2FXHEO0|I® 60,000 60,000 0
& 48,000
= 12,000
01 QItXEEx 60,000 60,000 0
NodE BHRz = 120,000, 000* 174 2 *50% 60,000
= 48,000
s 12,000
AIotE A 345,458 203,000 142,458
202 O4dl 5,458 3,000 2,458
01 WAL 5,458 3,000 2,458
Na=dEEM F 75,800+3ZF x4 2 +63] 5,458




FAM: ol 24kt
B 0F AS o4
ol O{RAMMES X2 ELR-E
SA - FB . GI(EN) - MRAY - B2 0fl &k o o HIRE2
307 2120l M 240,000 200,000 40,000
04 GQIZHHAIE X 240,000 200,000 40,000
NAIHH N =R 65,000,000% 13| 65,000
NEZSHEH 20,000,000+ 12] 20,000
1A = H| 30,000,000%13] 30,000
(B RNRELEE PNEYN 65,000,000+ 12| 65,000
DA A A 60,000,000% 13l 60,000
401 Al&HIZLS0HY] 100,000 0 100,000
04 SHArZHEAIAL] 100,000 0 100,000
NAIHHE O E R 25,000,000 25,000
AR EH 25,000,000 25,000
NAIHE X =R 25,000,000 25,000
DNESMSHEH 25,000,000 25,000
Hgel I 88X AS 20,000 20,000 0
301 YErEAE 20,000 20,000 0
10 AIAHIZE A= 20,000 20,000 0
noigel =W AXX As 20,000,000 20,000
Hgel Jlsus =& 6,805 6,400 405
201 Ler2d 2,000 2,000 0
01 AtR22iH| 2,000 2,000 0
Nogel Jzsns WM 4,000%5005 2,000
202 O4dl 1,805 1,400 405
01 WAL 1,805 1,400 405
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e

KIo

Hl W

AT,525

A2,010
22,010

LH3r
Lld
RIS

3,000
3,000

43,828

17,080
17,080

Off &4

1,805
3,000
3,000
3,000
36,303

15,070
15,070

5,710

B

- SR1(31H) - MRAY

« X ZH
e

2 A

75,800%1.7H*145H

<
OF
E
ol
<H

ol

3

50,000%30& #2

K0

80
0K
o)
oll

el
JISARI1DI

At 2t
1C

01

30
OH

i

N2, 767
N2, 767

15,200
15,200

120
3,480
2,000
1,920

500
4,000
2,100

400
1,500
2,940
2,940

12,433
12,433
2,274

3

=l
3

[+ 1CH
|« 1CH
[«2CH

3

400,000+5J1=1CH
*30A

5
100,000%5&

5

3

z=
=)

60,000%2
55,000%2
348,000%5
32,000%2
70,000%15& #2
100,000%2H %2
300, 000%57H S +1
7,000+7&+60L
75,800+5E 32 #2
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gy EH7Y
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S YA AT
M Gl KRS
CHol: LS A ALY (SHol: &)
SA - FB . GI(EN) - MRAY - B2 0fl &k o o HIRE2
&2 329,273
& 325,937
= 3,818,675
A S LA ALY 4,599,185 1,899,528 2,699,657
= 136,871
s 1,551,000
&2 314,543
& 269,374
i 2,327,397
HEAR tE2el3sH KR 145,213 406,600 A261,387
= 80,000
= 32,000
= 33,213
202 O4dl 1,213 1,600 A387
01 =LHAYI 1,213 1,600 A 387
nAsAelsSH NAMEFEE X N2 75,800+2% *83] 1,213
402 QIZERHEO0IA 144,000 405,000 261,000
= 80,000
= 32,000
= 32,000
01 QItXEEX 144,000 405,000 A261,000
NS MHHelSSH XA 144,000,000 144,000




SA: o eba=atalt
HH: Qe KRt
ol SAZAA A (cHol 2
S B S9(S0) - MRAEY - BaS Of o o HIDS
= 80,000
=S 32,000
o 32,000
DAY MM NEA 502,718 502,808 A0
= 314,543
o 188,175
201 €Bt=gHl 3,000 4,000 21,000
01 AtF2tclHl 3,000 4,000 1,000
NZEEHAM AZZA 500,000%2I1 22| 2,000
NZEEMAM AEIH M 500+2,000H 1,000
202 OfH] 910 0 910
01 WAL 910 0 910
NZEEMAMAZAE SXNXNEES 75,800+28 *63] 910
402 212t Xt=01A 498,808 498,808 0
= 314,543
= 184,265
01 Q2i=Ex 498,808 498,808 0
NILAY S8HM2H XA 498,808,000 498,808
== 314,543
o 184,265
LAY JHIAE 101,805 92,800 9,005
202 Ol 1,805 2,800 A995
01 WAL 1,805 2,800 A995




S YA AT
M Gl KRS
CHol: LS A ALY ELR-E
SA - FB . GI(EN) - MRAY - B2 0fl &k o o HIRE2
NZLAHE FHl =X XA 75,800+ 1E*145H+1.78] 1,805
401 Al&HIL S O0HYI 100,000 90,000 10,000
01 Al&HI 100,000 90,000 10,000
NYLANHE HHIAIS 100, 000%2, 00024 *50% 100,000
NLEERH BgAd 113,742 50,000 63,742
= 56,871
& 11,374
= 45,497
402 QU220 H 113,742 50,000 63,742
= 56,871
= 11,374
i 45,497
01 SIZtREEX 113,742 50,000 63,742
NNLERE BZXA 113,742,000 113,742
= 56,871
= 11,374
= 45,497
OEH d=SHEI N 40,000 50,000 A 10,000
402 QU220 ® 40,000 50,000 A 10,000
01 QIZtREEX 40,000 50,000 10,000
NOHEA =48] X 40,000,000 40,000
LA AEHED K& 991,000 325,000 666,000




SA: o eba=atalt
M iYL RS
Sl SASUA A (chel:mel)
2 (S - KIRAY - Be S e HIDS2
A0 A8 NE D X s 551,000
i 440,000
402 21t X+=01A 991,000 325,000 666,000
s 551,000
i 440,000
01 gli=Ex 991,000 325,000 666,000
NAEMEMEAE 10,101,935+ 1099H 2 +90% 991,000
s 551,000
o 440,000
SOHEUH WRSH &ZAS 40,000 30,000 10,000
402 RI2tHE01H 40,000 30,000 10,000
01 gli=Ex 40,000 30,000 10,000
NOESHEWH WE 20,000,000%2JH 2= 40,000
SLANY E HEHE 25,707 42,320 A16,613
201 Let=gl 9,480 21,920 A12,440
01 AtR22lb] 9,480 21,920 A12,440
DNOHEOIEHE 6,000%105*30%F 1,800
NESHEH 2 250,000%22 500
MO S 1,000=1,0000HK 1,000
DUHEOISHE A 5,500%25* 145 & » 1504 2,310
Nelsey s 1,560
2)Z=MNEE 200+1,5000H 300
2)2H3tE Al 50,000+ 145 & 700
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2 LA
M gL KRS
CHSl: SAS ALY (ct9: &2l
SN HE - SR(B) - MRAY - BES 0l arey o HI D2
| | 1) 2= AHOFAID) OFNG ALY 280,000,000 280,000
ABZ AL g 222,055 443,560 ~221,505
£ 14,730
[ 29,460
2 177,865
222 YAT ASH KA 68, 147 141,420 AT3,273
2 12,420
[ 24,840
2 30,887
201 Yer2H| 4,000 5,000 ~1,000
01 AtR22lH| 4,000 5,000 A1,000
DNSUAIZ ASH H28e AAEeE 1,000% 10012074 A 103 2,000
DMSEY ASAR AN 2 25,000%807} 2 2,000
202 it 2,047 2,500 453
01 2ULHoib 2,047 2,500 453
DMRLANE IS E 75,800%2% 52 % +2. 73] 2,047
402 DIRERHR0|E 62,100 133,920 AT1,820
£ 12,420
[ 24,840
2 24,840
01 QI2X=EX 62,100 133,920 AT1,820
DYAZASHIX S (A2F) 3,105,000%40 *50% 62,100




2 A
X ZH .
(=2l

el

> ot g
0 02 09
oM

-
- .

Nz ton

09 1 1
E e
2

S B S9(S0) - MRAEY - BaS Of o o HIDS
= 12,420
=S 24,840
o 24,840
OlF 2AE A=H XA 14,908 32,740 A17,832
= 2,310
< 4,620
= 7,978
201 Let=gl 1,440 1,440 0
01 A2l 1,440 1,440 0
=2 HFEXAL AZTEY 30,000%404 Ax12E 1,440
202 O4H] 1,918 500 1,418
01 =LHOiHI 1,918 500 1,418
N=dtE ASF 2 G XA 75,800%x2E +55 H+13] 758
NYMEANES 75,800%1. 7«95 H 1,160
402 RI2tHE01H 11,550 30,800 19,250
= 2,310
& 4,620
= 4,620
01 gli=Ex 11,550 30,800 219,250
NSMFASHAIRA(01F) 7,700,000%3= *50% 11,550
= 2,310
& 4,620
Ea 4,620




S YA AT
M Gl KRS
el ASSAA Y (&t &3
SA - FB . GI(EN) - MRAY - B2 0fl &k o o HIRE2
LilptE SO 100,000 100,000 0
307 2120l M 100,000 100,000 0
02 QIHANEX 100,000 100,000
NAlSME E6HRIR 200, 000%5002! 100,000
SAMED A AFNEXR 30,000 50,000 220,000
307 2120l ™ 30,000 50,000 220,000
02 QItANEX 30,000 50,000 20,000
NaMER ADJlE APNLXIA(EX) 30,000,000 30,000
HIXE 2HXEH0 SAFEY 9,000 0 9,000
402 BIZERHE0IM 9,000 0 9,000
01 SIZtEEX 9,000 0 9,000
HXZOILATHK] JIBHAIE X 9,000,000% 14! 9,000
a8 2= 90,000 35,000 55,000
dEc| HEYR sl X 10,000 15,000 25,000
401 Al&HIL S O0HYI 10,000 15,000 25,000
01 Al&HI 10,000 15,000 5,000
Nacel MR guileg XA 10,000, 000%1JH 2~ 10,000
A8 &= 80,000 0 80,000
402 QU220 H 80,000 0 80,000
01 QItREEXR 80,000 0 80,000
NeAley WEAXE X2 80,000,000 1JH 2 80,000
=OIE 3= 1,354,478 283,314 1,071,164




S YA AT
S ol Ydh RS
chel: AR 3= (ol He)
S B S9(S0) - MRAEY - BaS Of o o HIDS
SRAPNE=RC = 500,000
s 262,480
ES 24,103
= 567,895
LAY FaAY 187,500 192,500 25,000
[ 150,000
o 37,500
401 Al EHIX S0 187,500 192,500 25,000
s 150,000
o 37,500
01 Al&HI 186, 150 191,114 A4, 964
DAY FatAr(232ha) 186,150,000 186,150
[ 148,650
s 37,500
03 AlZ=UHHI 1,350 1,386 A36
NSAUE HotAte 187,500,000%0.72% 1,350
[ 1,350
FOER Y YFA 166,978 90,814 76,164
[ 112,480
= 24,1038
o 30,39%
201 £et2dH| 4,700 3,600 1,100
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SA: o eba=atalt
HH: Qe KAt
£rol: AN 5l 2 HH)
SA B C9I(E0) - MRAY - e 2t
401 ANIEHIS = 500,000
s 500,000
01 A 993,700 993,700
DNARSH TS ESALY 993,700
= 496,850
o 496,850
03 Al&Z=2CHHI 6,300 6,300
NARIHUSESALY 1,000,000, 000+0.63% 6,300
= 3,150
o 3,150
SEHUHY NH=s 658,518 583,908
= 3,000
= 655,518
LAY I HIIKE A 18,320 A180
= 3,000
o 15,320
201 €BH=gll 16,500 0
s 3,000
o 13,500
01 A2ty 16,500 0
NILAFE At HIDIXI & 100,000+ 150= & 15,000
& 3,000
s 12,000




S AT
Y okt XASH
el EHHY NSHS (&2 &)
SA - FB . GI(EN) - MRAY - B2 0fl &k o o HIRE2
Na=Hga B2 2 HISHe 50,000+«30= & 1,500
202 O4d| 1,820 2,000 2180
01 =3LHAbI 1,820 2,000 A 180
R4 Satehs 1,820
)= gsHH 75,800%2% * 12 *63] 910
2)8EE ¥ PR e 75,800+2% 1L +63] 910
HEEN =E 22,327 26,110 A3,783
201 LEr2E| 11,260 12,610 A 1,350
01 AtSR2teid] 11,260 12,610 AT1,350
NEYHSI AIIERK 1,500,000 1,500
N2YEAH2HDI A2l 1,000,000%33] 3,000
NEYoY H5EH7Y 360,000 360
At A8 AARASIIN JIE 1,000,000 1,000
NEYNY oY 228 ME 1,350
)W L AEIH M 2,500+300% 750
2)2I= 50,000+ 124 600
1 Il=dl 900
2)0XE #5222 1I=4| 300,000%3E *13] 900
1)=& 3,150
)28 HE22X Al 7,000+3E+150& 3,180
202 O4d| 11,067 13,500 A2,433
01 =3LHAbI 11,067 13,500 A2,433
Dol LA SrEths 75,800+ 1H*102 »23] 1,516
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Hl W

617,871

LH3r
Lld
RIS

Off &4

3,790
1,971
3,790

617,871

B

- SR1(31H) - MRAY

« X ZH
e

2 A

3

5

75,800x2F 13
75,800%2F %25

75,800x1F*10 %5

1l

XJ
[0

&

52,780

598,671
545,891

52,780
48,100
36,500
11,600
1,600
1,600
3,080
1,120
1,960
545,891
2,280
360
360
480
480
300
300
888
888

598,671

*8
x4
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|

|
30,000+ 12&
30,000+ 12&
40,000+122
40,000+12&
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50,000+ 116 +2&
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S AT
Y okt XASH
eel: 280Y NEEs (&t &3
SA - FB . GI(EN) - MRAY - B2 0fl &k o o HIRE2
3)ASIIEAN L WEA 39,000+8CH 312
JNFEUSHY LA 850,000 14 850
)92 2HI(530%) 165,476
&R 1,649.97%0.112 £ *3,000HP*4 Al 2Hx70L 155,230
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